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A Bun for Barney =

Barney the Bear had a bun.

It was an iced currant bun with
five cherries on.

Barney said,“An iced currant
bun with five cherries on will go
down nicely in my tum.” And he
settled down to eat his bun.

But before he could take a
bite a wasp came whizzing
and buzzing.

“Will you please go away,’
said Barney, “and leave me to
eat my bun.”

But the wasp buzzed louder
and said,“Yes, if you give me
a cherry.”

So Barney gave the wasp
a cherry.

“Oh well,” he said with a sigh,
“an iced currant bun with four
cherries on is better than a bun
with none.”
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1. What was Barney’s bun like? Tick the best answer.

It was an iced bun. [] It was a currant bun. []

It was an iced currant |:| It was an iced bun with cherries on. |:|
bun with cherries on.

2. Barney settled down to eat his bun.What came whizzing and buzzing?

3. What did Barney do in this text? Tick three.

He settled down. |:| He ate a bun. |:|
He ate a cherry, [] He had a bun. []

He asked a wasp to go away. |:|

4. What did Barney give the wasp to make it go away!?

5. Does Barney like buns? How do you know?

6. Do you think Barney will get to eat his bun? Explain.
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